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QUESTION 1

You establish MySQL Enterprise Server on Oracle Cloud Infrastructure connection via Secure Shell (SSH). When
accessing a new MySQL Enterprise Edition Oracle Cloud Infrastructure (OCI) instance, you want to use MySQL
Enterprise Workbench for SQL and remote management. What are two ways to successfully configure Workbench
based on the MySQL access credentials? 

A. Open the MySQL OCI instance access port 3306. For the MySQL connection, you use this port, and, in addition, you
configure the remote management based on SSH based on the provided key. 

B. Configure the MySQL Router first and based on those settings, you access your MySQL CS instance. 

C. Configure TCP/IP over SSH and based on the created private key, opc-User, and MySQL access credentials, you
can access the MySQL OCI instance. 

D. Convert the private key to ppk format first. Based on TCP/IP over SSH and based on the created private key, opc-
user, and MySQL access credentials, you can access the MySQL CS instance. 

Correct Answer: A 

 

QUESTION 2

Which three statements are true about MySQL Enterprise Backup? 

A. It performs hot or warm backups. 

B. It provides the ability to create incremental backups. 

C. It cannot back up encrypted tablespaces. 

D. It enables you to take non-locking backups. 

E. It performs logical backups. 

Correct Answer: BDE 

 

QUESTION 3

After installing MySQL 8.0, you initialize the data directory with the --initialize command. Which two are places where
you can find the root password? 

A. The root password is not given and is blank. You must manually set the root password. 

B. The root password inserted in the error log set by the --log-error=[file_name] variable 

C. The root password displayed on the screen via a [warning] message. 

D. The root_pw variable stored in the mysq1.install table. 

E. As root, execute the show password command by using the SHA-256 password encryption plug-in. 
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Correct Answer: DE 

 

QUESTION 4

You want to change the default behavior of MySQL Enterprise Monitor (MEM). New instances detected by 

a MEM agent should automatically monitor discovered instances. 

How can you change the Advisor Setting? 

A. Go to the configuration section (Users) and create a new user according to the existing users of your new MySQL
instances. 

B. Go to the configuration section (Advisors) and edit the default settings of the MySQL Process Discovery according to
the existing users of your new MySQL instances. 

C. Go to the configuration section (Advisors) and create a new advisor rule for new MySQL instances based on the
MySQL Advisor Wizard. 

D. Go to the configuration section (MEM) and configure the default login credentials. 

Correct Answer: B 

 

QUESTION 5

Which best describes database horizontal scale-out architecture deployment in MySQL in a read- heavy environment? 

A. Allocating more CPU to the database instance to improve throughput performance. 

B. Deploy MySQL read-only slaves utilizing replication so that the slaves can be used for reads. 

C. Increasing the memory capacity so that there is a larger pooling buffer to increase the database read performance. 

D. Adding more MySQL servers and sharing the same dacadir on a shared storage component like NFS. 

E. Increasing the storage capacity so that the database can store more data to scale. 

Correct Answer: E 
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